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Series

FinerZ(r - 33

r=1

2
Show that Y _(2r - 1)? = —23’1(161'12 - 1.

re=

a Show that;r(r +2)= g(n + 1)(2n + 7).

Aad¥

Show thatZrQ* = g(n + 1){an + b), where g and b are constants to be found,
L

H
a Show that;(r r—1) 3(n 2)(n + 2).

40
b Hence calcu!atez (r* - r- 1.

roe= 10

H
a Show 'thazZr(;Zr3 +1) = %(n )2+ + 1),
re=
38

b Hence calculatez r(2r% + 1).

r= 26

Find a Y r(3r-1) b Y (r+2)3r+5) ¢ Y @r-2r+1),

r=1 r=1 =1

i , e+ 1y = M+ 1\ n +
a Show that;r(r F 1) 3(:‘1 1¥{n + 2),
60

b Hence calculate Z rir + 1).

re 31

. Ty < 1 .
a Show that;r(; F 1)+ 2) = J0+ D+ 2)( + 3).

b Henceevaluate 3 X 4 X 5§ + 4 X3 X 6+5X6 X7+ ...+ 40x4] < 42,

a Show thatZr{Z(n — A+ 1= g(n + 120 + 1).
F=1

b Hence sum theseries 2n— 1) +2(2n—-3)+32un -5+ ... +n

a Show that when 1 is even,

B=P4Paomnl= P24 P, kb= 1610 52+ P4 .+ (5]
n g o
=) P16y
=] w1 5
b Hence show that, forneven, 1° =23+ 33 - .. —p¥ = “%:(Zil +3)

¢ Deduce the sum of 13 ~ 23 + 3% — ., — 407,



